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Sub-Section 1 ¢: 723053107

Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 7230531538 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Find the number of squares in the following figure.

Options:
#® 16

# 48

Question Number : 2 Question Id : 7230531539 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Read the following information carefully and answer the question that give below.

Five girls — Tincy, Swathi, Neena, Anjali and Pranavi and five boys — Ajith, Karthi, Pradeep, Sunil and Deepak sat on
the two long sides of a rectangular table. The girls sat alternating with and opposite to the boys. Sunil sat in a centre
position. Anjali sat opposite Ajith. Swathi sat next to Sunil and three places from Ajith. Pranavi sat four places to the
left of Anjali. Neena sat two places from Swathi and Pradeep sat opposite Swathi. Karthi sat three places from Pranavi.
Who sat opposite Tincy?

Options:

» Deepak

% Karthi
« Sunil

% Pranavi

Question Number : 3 Question Id : 7230531540 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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In the question given below. there qre two statements labelled as Assertion and Reason. Mark vour answer as per the

codes provided below.

Assertion (A):
Sprouting should be done before consuming the grains.

Reason (R):
Sprouting kills many vital vitamins.

Options:
« A Is true but R is false

% A iIs false but R is true

% Both A and R are true and R is the correct explanation of A

% Both A and R are true but R is not the correct explanation of A

Question Number : 4 Question Id : 7230531541 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Choose the correct alternative for the following.

Substitute : Replace : : Vacant :

Options:
w Empty

g Queue
% Line

s Full

Question Number : 5 Question Id : 7230531542 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Replace the question mark by choosing the correct response from amongst the alternatives given.

4/ N5 5 8
12 36
6 9
Options:

# 120
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# 123

« 132

# 134

Question Number : 6 Question Id : 7230531543 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Read the following information carefully and answer the question given below.

‘Ua V' means ‘U is not greater then V”’;

‘U S V' means ‘U is greater than or equal to V”;

‘Uy V' means ‘U is less than V’;

‘Ud V' means ‘U is neither greater than nor equal to V’;

‘U® V' means ‘U is neither less than nor equal to V";

Statements:
ASB, BOC, DacC

Conclusions:
I.LAOD
ILDy B
ILASB C

Options:
% Only I is true

» Only II is true
% Only II and III are true

% All are true

Question Number : 7 Question Id : 7230531544 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Standing on the playground, Mala told Smitha that Anitha was more than 20 m but less than 25 m from there. Smitha
knew that it was more than 21 m but less than 23 m from there. If both of them were correct, which of the following

could be the distance of Anitha from the playground?

Options:
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Question Number : 8 Question Id : 7230531545 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The age of a mother is twice that of the elder daughter. Ten years hence, the age of the mother will be three-times that of
the younger daughter. If the difference of ages of the two daughters is 15 years, the age of the mother is:

Options:
s 40 vears

« 48 vears
» 20 years

g 92 vears

Question Number : 9 Question Id : 7230531546 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Find the odd one from the following.

Options:
» EXplosion

« Earthquake

# Flood

% Tsunami

Question Number : 10 Question Id : 7230531547 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Anitha is standing to the west of Benita and north of Reshmi, and Seema is to the west of Reshmi and south of Saru.
Seema is in which direction from Benita?
Options:
% North
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| % South

« South-west

% North-west

Question Number : 11 Question Id : 7230531548 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
[fA=2 D=8,7Z=52, then STUDENT =?

Options:
® 204

206
® 212

# 216

Question Number : 12 Question Id : 7230531549 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
You are given two statements and four conclusions. Choose the comment about conclusions from the given options

below.

Statements:
Some papers are pens.
No pen is eraser.

Conclusions:

. Some pens are papers.

II. Some erasers are papers.

III. Some papers are not erasers.
IV. All erasers are papers.

Options:
% Only conclusion I follows
» Only conclusion I and III follow

% Only conclusion IT and I1T follow

% Only conclusion IV follows

Question Number : 13 Question Id : 7230531550 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct : 1 Wrong: 0.25

Choose the similar pair for the following.

8:448 ::
Options:
® 6:216

# 9:100
® 7:203

« 10 : 900

Question Number : 14 Question Id : 7230531551 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Read the following information carefully and answer the question given below.

Rajiv is the son of Shiva’s father’s sister. Shyam is the son of Deepa who is the mother of Ganesh and grandmother of
Shiva. Kumar is the father of Dhanya and grandfather of Rajiv. Deepa is Kumar’s wife.

How is Deepa related to Rajiv?
Options:
« Grandmother

% Mother
% Sister

# Aunt

Question Number : 15 Question Id : 7230531552 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

You and your friend have been exchanging gifts quite regularly. But she has not sent you any gift for the last eight
months. You would:

(Instruction: Choose most appropriate option)
Options:
% Stop sending gifts to vour friend.

% ask your friend the reason for not sending any gifts now.

% understand it as a termination of your relationship.
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|__. send vour friend the gift as before.

Question Number : 16 Question Id : 7230531553 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
In a village, 65%0 people drink tea, 40% people drink coffee and 25% drink both tea and coffee. What percentage of
people drink neither tea nor coffee?

Options:
® 15

% 18

Question Number : 17 Question Id : 7230531554 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Replace the question mark by choosing the correct response from amongst the alternatives given.

8 17

1151 L

575 71
7 143

Options:
® 285

287
#% 289

% 297

Question Number : 18 Question Id : 7230531555 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Number of letters skipped in between adjacent letters in the series is two. Which of the following series observes the

given rule?

Options:
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# YBGKMPR

# SVYZCFH
« MPSVYBE

# TVZCGIN

Question Number : 19 Question Id : 7230531556 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Sindhu walks 1 km towards east and then she turns to south and walks 5 km. Again she turns to east and walks 2 km,
after this she turns to north and walks 9 km. Now, how far is she from her starting point?

Options:

% 2 km

Question Number : 20 Question Id : 7230531557 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Select the option that is related to the third letter cluster in the same way as the second one is related to the first letter
cluster.

BDqrSH : HSrgDB : : UWpgME:
Options:
» EMgpWU

% EMpgWUu
% WUpgEM

% WUgpEM

General Awareress

Group Number : 2
Group Id : 72305377
Group Maximum Duration : 0


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

AddaH7

Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 20

General Awarerness

Section Id : 72305377
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions; 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 723053108
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 7230531558 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
When was the Gandhi-Irwin pact signed between Mahatma Gandhi and Lord Irwin?

Options:
# 1941

« 1931

Question Number : 22 Question Id : 7230531559 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The first Anglo-Mysore war was fought between:

Options:
% Saadat Ali Khan and British

% Tipu Sultan and British

» Hyder Ali and British
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Question Number : 23 Question Id : 7230531560 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The Harappan site Rangpur is situated in the present Indian state of:

Options:
» Gujarat

% Harvana

% Punjab

% Jammu & Kashmir

Question Number : 24 Question Id : 7230531561 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Panna in Madhya Pradesh is famous for which of the following mines?

Options:
% Gold

+ Diamond

% Coal

# Iron ore

Question Number : 25 Question Id : 7230531562 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

In which state is the Bhagwan Mahavir Wildlife Sanctuary situated?

Options:
% Gujarat

% Bihar
« (G0a

« Rajasthan
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Question Number : 26 Question Id : 723

e

7

D531563 Question Type: MCQ Option Shuffling

Singte Cine QUestion Option . NO Optiol
Correct : 1 Wrong: 0.25

Orientation : Vertical

GET IT ON
Google Play

Yes Display Question Number : Yes

Who among the following administers the oath of office to the Home Minister of India?

Options:

% The Prime Minister of India

« The President of India

% The Vice-President of India

% T'he Attorney-General of India

Question Number : 27 Question Id : 7230531564 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

To who does the judge of Supreme Court submit his resignation?

Options:

+ President of India

% Prime Minister of India

5 Aftorney-General of India

% A Vice-President of India

Question Number : 28 Question Id : 7230531565 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The Advocate-General of a State holds office during the pleasure of:

Options:

« The Governor of the concerned State

% The Attorney-General of India

% The Chief Minister of the concerned State

% The Prime Minister of India

Question Number : 29 Question Id : 7230531566 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

What was GDP of India at market price for 2016-177 (In Rupees)



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda@4?

Options:

% 252 trillion
% 202 trillion
% 102 trillion

« 152 trillion

Question Number : 30 Question Id : 7230531567 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which among the following was India’s highest produced cereal in 2016-17?

Options:
« Rice

% Wheat
% Jowar

« Bajra

Question Number : 31 Question Id : 7230531568 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Pattachitra stvle of painting is a popular art form of which of the following states?

Options:
% Uttar Pradesh

% Bihar
« Odisha

« Rajasthan

Question Number : 32 Question Id : 7230531569 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

With which folk art form is the painter Jai Prakash Lekhiwal associated?
Options:

« Madhubani painting
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_» Miniature painting

% Warli painting

% Kalamkari painting

GET IT ON
Google Play

Question Number : 33 Question Id : 7230531570 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

With which form of folk songs is the Uttarakhand folk singer Basanti Devi Bisht associated?

Options:
» Bajuband

s Chhura
» Jagar

% Chhopati

Question Number : 34 Question Id : 7230531571 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

India’s first gold medal at Commonwealth Games 2018 was won by:

Options:

» Deepak Lather

% Vikas Gowda

% Sini Jose

« Mirabai Chanu

Question Number : 35 Question Id : 7230531572 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.25

2020 edition of ICC T20 cricket world cup for men would be held in:

Options:

% South Africa

» Bangladesh
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| % SriTanka

« Australia

Question Number : 36 Question Id : 7230531573 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following will show the Tyndall effect?

Options:
% Salt solution

« Milk
% Copper solution

% Sugar Solution

Question Number : 37 Question Id : 7230531574 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

What is the motto of ASEAN?

Options:

» One Vision, One Identity, One Community

% One Vision, One Purpose, One Community
% One Boundary, One Identity, One Community

% One Vision, One Identity, One Purpose

Question Number : 38 Question Id : 7230531575 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Where was Asia Pacific Regional Workshop of United Nations Convention to Combat Desertification (UNCCD) held?

Options:
% Mumbai

% Chennai

w New Delhi
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« Chandigarh

Question Number : 39 Question Id : 7230531576 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

What is the number of self-help groups of tribal gatherers constituted under Van Dhan Yojana?
Options:

« 10

% 20

Question Number : 40 Question Id : 7230531577 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
What is the total number of members in National Committee for commemoration of 150th birth anniversary of
Mahatma Gandhi in 2019?

Options:
# 203
# 85
® 127
« 125

Arithrnetic Ability
Group Number : 3
Group Id : 72305378
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 20

Arithrnetic Ability

Section Id : 72305378
Section Number : 1
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Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 17
Number of Questionsto be attempted: 17
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number : 1
Sub-Section 1d: 723053109
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 7230531578 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The sum of four consecutive odd numbers and four consecutive even numbers is 396. The smallest odd number is 39
less than the smallest even number. What is the sum of the largest odd number and the largest even number?

Options:
® 97

% 101
« 105

# 109

Question Number : 42 Question Id : 7230531579 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
A student was asked to simplify the following:

0.00016 % 0.25 0.01216 % 0.105 X 0.02

0.4 X 0.0325x 0.5  0.8512 X 0.0625 X 0.39

His answer was 0.25. What is the difference between the correct answer and his answer?
Options:
® 3.25
® 3.75

# 4.65

& 4.75

Question Number : 43 Question Id : 7230531580 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct : 1 Wrong: 0.25

2. 0750f2 2 1 i
If3 — X 1.24 =24 Df(; + 5) = 1+k, then the value of k is:

g EXE

Options:
1

® 75

%
oy

%
o |~

Question Number : 44 Question Id : 7230531581 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
2 .4
= nfa +
The value of

3 4 9 2. 9
(3 Xgﬂf§}+3 XEDfETEDfE -
E*Eaf(éxi)xi w
g s

3 25
Options:
14
18—
o 27

11
x M

14

11

Question Number : 45 Question Id : 7230531582 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
In a class, i of the number of boys and g of the number of girls participated in annual sports. If the number of boys who

participated is equal to% of the number of girls who participated in sports, then what fractional part of the total number
=]

of students participated?
Options:

21
® 32
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21

o 64

Question Number : 46 Question Id : 7230531583 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
A’s income is 60% of that of B and A’s expenditure is 70% of that of B. If A’s income is 75% of B’s expenditure, then
the ratio of A’s saving to that of B is:

Options:
£ 2:5

Question Number : 47 Question Id : 7230531584 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

In a class, the ratio of boys to girls is 3 : 1. If 16 boys leave and 6 more girls join the class. the ratio of boys to girls
becomes 10 : 9. What was the total number of students in the class initially?

Options:

# 40

« 438

¥
h
3

¥
Lh
o

Question Number : 48 Question Id : 7230531585 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
A person bought an article after getting a 20% discount on its marked price. He sold the article at an 8% profit on the
marked price. What was his profit percent on the price he bought?

Options:
® 28
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Question Number : 49 Question Id : 7230531586 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The compound interest on a certain sum for 2 years at a rate of 10% per annum is ¥ 1,260. What will the same sum be at

i 2 .
the same rate of interest after 3~ years (nearest to an integer)?
=1

Options:
« T 8,408

% < 8385
% T 8,358

v < 8,305

Question Number : 50 Question Id : 7230531587 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

A circle is inscribed in an equilateral triangle of side *a” cm. What will be the area (in unit) of a square inscribed in the
circle?

Options:

ﬂz

® 4
aZ
v 6

W|5:'m

a’

#® 3

Question Number : 51 Question Id : 7230531588 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The L.CM of two mumbers is 667 times their HCFE. The sum of the LCM and the HCF is 44756. If one of the numbers is
1943, then the sum of the digits of the other number is:
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Options:

% 9

« 11
% 14

% 16

Question Number : 52 Question Id : 7230531589 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
When 11280, 8988 and 7651 are divided by the greatest number x, the remainder in each case is y. What is the value of

(x=3)?
Options:
« 180

#% 182
% 188

# 192

Question Number : 53 Question Id : 7230531590 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

After travelling 60 km, a train experiences some technical difficulty, after which it proceeds at 66— % of its former
speed to arrive at its destination 40 minutes late. If the technical glitch had occurred 30 km further: the train would have
reached the destination only 20 minutes late. The original speed (in km/h) of the train is:

Options:
# 60

®
Lh
L

% 48

o 45

Question Number : 54 Question Id : 7230531591 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
A can complete a task in 30 days. He started the task and then B joined him after 4 days. The task was completed in a
total of 20 days. Had A and B worked together from the beginning, they would have finished the same task in:

Options:
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g 20 days

% 15 days

Sub-Section Number:
Sub-Section 1d:
Question Shuffling Allowed :

GET IT ON
Google Play

2
723053110
Yes

Question Id : 7230531592 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension

Questions: No
Question Numbers: (55t0 56)
Juestion Label - Comprehension

Study the following pie-chart and table and answer the following

questions that follows:
percentage break up of students in the

different schools

Ratio between Boysand Girls

School Boys : Girls
A 14001
B T
C il
D 5 et
E 7:9

Sub questions

Question Number : 55 Question Id : 7230531593 Question Type:
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

What is the ratio of the total number of boys in
schools A and D to the total number of girls in
schools B and C?

Options:

® 2327

MCQ Option Shuffling: Yes Display Question Number : Yes
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& 2322

& 46 :43

% 46 :33

Question Number : 56 Question Id : 7230531594 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Total number of girls in schools B, C and D is what
percent of total students in five schools?

Options:
# 24.6
o 27.5

% 249

# 27.8

Sub-Section Number: 3
Sub-Section 1d: 723053111
Question Shuffling Allowed : Yes

Question Id : 7230531595 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (57 to 58)
Cuestion Latbel COI‘I‘lpI"EhEI‘lSiOH

Study the following graph and answer the questions that follows:

Annual Turn Over of Companies A and B over the Years
(in ¥ lakhs)

750 — Comipany A

700

—— COmpany B

Turn over (in ¥ lakhs)
- BEEEE88 8388

2012 2013 2014 2015 2016 2017

Years
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Sub questions

Question Number : 57 Question Id : 7230531596 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The number of years in which turnover of company
B was more than the average turnover of company A
over the given years is?
Options:
® 2

® 3

® 4

Question Number : 58 Question Id : 7230531597 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Total turnover of company A in 2012, 2014 and 2017
is approximately what percent less than the total
turnover of company B in 2013, 2015 and 20162

Options:
# 158.8
% 19.6

« 25.1

# 20.6

Sub-Section Number: 4
Sub-Section 1d: 723053112
Question Shuffling Allowed : Yes

Question Id : 7230531598 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (59 to 60)
Cuestion Latbel COI‘I‘lpI"EhEI‘lSiOH
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| Study the followme Bar graph which shows the number of students

enrolled for a vocational course in institutes A and B durmg 5 vears
and answer the questions that follows:

B institute A ®institute B

400
360

4]
Ln
=]

L
=]
]

(=]
Ln
=

Number of stdents enrolled
[2%]
=]
=

150
100
50
1]
2012 2013 2014 2015 2016
Years
Sub questions

Question Number : 59 Question Id : 7230531599 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
What is the difference between the average number
of students enrolled in institute A in 2012 and 2014
and that in institute B in 2013, 2015 and 20167

Options:
# 125

o 145
# 150

# 155

Question Number : 60 Question Id : 7230531600 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
If the number of enrolled students in institute A in
2016 is 25% less than that in 2017, the number of
students enrolled in A in 2017 would be less than the
number of student enrolled in B in 2016 is?

Options:
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# 16

% 18

« 20

® 24

eneral English

Group Number : 4

Group Id: 72305379

Group Maximum Duration : 0

Group Minimum Duration : 0

Revisit allowed for view? : No

Revisit allowed for edit?: No

Break time: 0

Group Marks: 20

Ceneral English

Section Id : 72305379
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 16
Number of Questionsto be attempted: 16
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section 1d: 723053113
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 7230531601 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Choose the correct synonym of:

phony
Options:
% similar

« fake
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% covered

% heavy

Question Number : 62 Question Id : 7230531602 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Choose the correct antonym of:

resume
Options:
« discontinue

« develop
% continue

% disturb

Question Number : 63 Question Id : 7230531603 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Choose the correct antonym of the underlined word to fill in the blank.

The colossal statue appeared very odd compared to the figure of the dead king lving next to it.
Options:
» huge

% terrible
% glgantic

Question Number : 64 Question Id : 7230531604 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Fill in the blank with the correct word.

I love vibrant colours of the flowers in vour garden.

Options:
g Aany
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# the

# none

Question Number : 65 Question Id : 7230531605 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Fill in the blank with the appropriate word.

they sell beetroots in this shop?

Options:
# Were

# Was
« Do

% Does

Question Number : 66 Question Id : 7230531606 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Fill in the blank with the appropriate word.

Your plan is great. It is going to benefit all of us.

Options:
% hardly

5 Tully
» certainly

» hearly

Question Number : 67 Question Id : 7230531607 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
In the following sentence four words or phrases have been underlined. One of them is incorrect. Choose the incorrect

word or phrase from the given options.

When vou present a talk or have a conversation on a controversial topic. you must remember to choice your approach
carefully, otherwise you may land vourself in hostile reactions.
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Options:

% present a talk
% ona
« to choice

% may land yourself

Question Number : 68 Question Id : 7230531608 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
In the following sentence four words or phrases have been underlined. One of them is incorrect. Choose the incorrect
word or phrase from the given options.

The most important thing for vou is to remember that all player must play according to his full potential.

Options:
% The most important

% to remember
» all player

s his full potential

Question Number : 69 Question Id : 7230531609 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Choose the passive voice form of the given sentence.

During the school audit the auditors observed that some of the teachers had great teaching skills.

Options:
% It was is observed by the auditors during the school audit that some of the teachers had great teaching skills.

It was being observed by the auditors during the school audit that some of the teachers were having great teaching
# skills.

» It was observed by the auditors during the school audit that some of the teachers had great teaching skills.

% The school auditors had observed during the school audit that some of the teachers had great teaching skills.

Question Number : 70 Question Id : 7230531610 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Indirect speech form for the following|sentence

Monika said to me, “What a pity vou missed my sister’s wedding!”

Options:
% Monika asked why it was a great pity that I had missed her sister’s wedding.

% Monika asked her friend that it was a great pity that I had missed her sister’s wedding.
% Monika said to me that it was a great pity that I have missed her sister’s wedding.

» Monika exclaimed that it was a great pity that I had missed her sister’s wedding.

Question Number : 71 Question Id : 7230531611 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Choose the option that best combines the two given sentences.

You may have already received a copy of the notice. In that case, please ignore this one.
Options:

% Unless you have already received a copy of the notice, please ignore this one.

» If vou have already received a copy of the notice, please ignore this one.

% As you have already received a copy of the notice, you may ignore this one.

» Although vou have received a copy of the notice. in that case please ignore this one.

Question Number : 72 Question Id : 7230531612 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Choose the passage that is correctly punctuated.

Options:
% “All our crops have run dry,” Wailed rampal And Suraj. “We have nothing to eat.”
« All our crops have run dry,” wailed rampal and suraj. ** We have nothing to eat.”

» “All our crops have run dry,” wailed Rampal and Suraj. “We have nothing to eat.”

% “All our crops have run dry, wailed Rampal and Suraj.” “We have nothing to eat.”
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Question Number : 73 Question Id : 723p531613 Question Type: MCQ Option Shuffling { Yes Display Question Number : Yes

Singie Cine Question option - No_option Orientation : Vertical

Correct : 1 Wrong: 0.25
Choose the word that is correctly spelt.

Options:
% coleague

% comission

» palatial

# embarrasment

Question Number : 74 Question Id : 7230531614 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.25

Fill in the blank with the appropriate word.
You are putting on weight. You must on your consumption of fat.

Options:
# cut out

« cut down
% cut off

% drop down

Question Number : 75 Question Id : 7230531615 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Fill in the blank with the appropriate idiom/phrase.

Though one person made the mistake, the entire staff hadto  for the blunder.
Options:

% cry over spilt milk

« face the music
% fall short of

% lose heart
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Sub-Section Number: 2
Sub-Section 1d: 723053114
Question Shuffling Allowed : Yes

Question Id : 7230531616 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension

Questions: No

Question Numbers: (76 to 80)

Question Label : Comprehension
Read the following passage and answer the questions that follow on
the basis of your reading.

The obsessive search for complete happmess has its utopian value. But
m life. it 1s that httle sorrow m your heart, which 15 so much your own
that it actually makes youwho you are. People tell us how a sorrowtul
experience made them see the larger picture. It made them realise that
sorrow 1s but a creation of the mmd and that the wise are those who
face joy and sorrow with equanimity. There are others who believe that
if happmess is a gift of God. so i1s sorrow. In the Mahabharata. Kuntiis
believed to have said to Krishna that the only boon she desired was
everlastmg sorrow and misery so that the name of God could always
be on her lips. We fear sorrow and fmd 1t m many experiences — the
mconvenient idea of a power cut m the scorching heat of summer or
the loss of a loved one or a dreaded disease — the gamut is large.
Sorrow 1s not easy to bear. but bear it we must. It ies m a comer of
your storeroom and does not come with options. Not located in the best
part of the house. not dusted so often. the storeroom. however. has that
piece of rope when you are searching for it; the duftle bag. when vou
have to travel — that long forgotten pan which 1s commg m handy
NOW.

Empathy and compassion are the first manifestations of universal love
for all iving bemgs. These essential trait of humaneness fmd their
source i that little bundle of sorrow yvou have. hidden within your
heart. It tones down aggressiveness. making yvou gentler. Treasure it as
the lesson for iving a compassionate and humane life. The storeroom
m your heart needs to be without self-pity. hatred and revenge. only
then your fmer sentunents are able to find expression.

Sub questions

Question Number : 76 Question Id : 7230531617 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.25

Choose the option that completes the meaning of the
sentence.

Sorrow, though a dreadful experience, is valuable as
it:
Options:
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o

» teaches us important lessons of life.
% 1s a utopian idea.

% is a universal goal of life.

Question Number : 77 Question Id : 7230531618 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of these experiences is NOT a manifestation
of sorrow?
Options:
% Someone cheating or deceiving you

% Death of a loved one
« A dark store room

% Poor health

Question Number : 78 Question Id : 7230531619 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Sorrow is compared with a long forgotten pan in the
store room because:

Options:

% both are covered with dust.

% vou don’t care for both of them.
« they are useful in an emergency.

» they have a sentimental value.

Question Number : 79 Question Id : 7230531620 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
How does sorrow make you a better person?

Options:
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_ It teaches vou compassion 3

nd gentleness

% It makes you aggressive

s It fills you with self-pity

It enables you to give expression to your innermost

« feelings

GET IT ON
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Question Number : 80 Question Id : 7230531621 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The passage highlights:

Options:

» that sad experiences are invaluable.

s the elusiveness of happiness.

« the importance of being loving and kind-hearted.

« that misery and sadness are
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Sub-Section Number: 1
Sub-Section 1d: 723053115
Question Shuffling Allowed : Yes

Question Id : 7230531622 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension

Questions: No
Question Numbers: (81to 85)
Cuestion Latbel COI‘I‘lpI"EhEI‘lSiOH

frr=afafEe e Teawt 98 71T $eAT & e fafew

"t AR =ierar Fr s 98 TR AT A

FHA thellet % ATANEFd $O Al a1 THR g4l & &HeG
21 F =T1g Foraer & e died, A9 g=a12 98T € T TR
Fr Fagierar 3R TR F TIF T2 AT U F afasy
AT ST aTel AT &1 39ei ST T gohld 31T | 2

|1 1995 # gRATUT & STl o U Fhol H I3 30T H
400 ¥ 3T S=dl & TAR ATH BT H AW P [FFHGR
AqT? Jehal HTAATTR hI For STIAT I 3018 3T=n! 1@ A
ITEAIT T29 & Y IR F das[g ol TWHR ganT 30T
FEH 3611 of &, qfosd R HTF ATRAEr gt T2 T
FRUT 3F DIET-ART "3 & AT F3 JIF gear &7
AT #r STeEr St W 16 [1e, 05 i afAe=g FasmgX
forer & FPIOARIET & UF WSAY Fhel A 30T H
TIIRRIIel ga’T 90 § o+ a=ar #f 987 X fear J=
THH TcT&T 30T &1 [ 2004 #H feoel o & U 39T
H odt 1175 I=ai & ¥ 142 g=ar HT 30 Alg F72
e AT I FRRRT W) e R &8 ar?

Sub questions

Question Number : 81 Question Id : 7230531623 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.25

TIFNT TSATT ST g 718
Options:

AT SART 398T H

%
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Question Number : 82 Question Id : 7230531624 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
STl HTTE & ged YHIT &, TIF &7

Options:

v TIEAGAl
wmm#
% SIdeaT 8 &

% TIFN = HwY =var &

Question Number : 83 Question Id : 7230531625 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
00 ¥ 31TereF F==T T FaT, F 919 FT THOT
e &

Options:

» TR & FF FH Far 3o
% TIFIT o TI&T0T Fr FifRrer Fr o)
w TR 3T IR Fr B e @ g

w == & GIEUe 8

Question Number : 84 Question Id : 7230531626 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
g=o &% S Fr SEER €

Options:
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Question Number : 85 Question Id : 7230531627 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

142 ==t 1 #Alg F FeEn &
Options:
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% ATIT-TO4ar 97

Sub-Section Number: 2
Sub-Section I d: 723053116
Question Shuffling Allowed : Yes

Question Number : 86 Question Id : 7230531628 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

fAFAfTad #§ ¥ dc8d eg BIev|
Options:
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« AN
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Question Number : 87 Question Id : 723p531629 Question Type: MCQ Option Shuffling { Yes Display Question Number : Yes

Singie Cine Question option - No_option Orientation : Vertical
Correct : 1 Wrong: 0.25

fFmafef@a 7 9 357 o= gfETl
Options:

% Hleled

% TISOT

# ddlel

" HTE

Question Number : 88 Question Id : 7230531630 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
‘STTHTAT e F T &
Options:

v HEUT

Question Number : 89 Question Id : 7230531631 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
TerT ereg H T
Options:

#® mmﬁr

» 0T i

« ¥afg afer
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Question Number : 90 Question Id : 723p531632 Question Type: MCQ Option Shuffling { Yes Display Question Number : Yes

Singie Cine Question option - No_option Orientation : Vertical
Correct : 1 Wrong: 0.25

‘wi ama:ragaa?r{sqﬁﬂﬁ?m)m%:

Options:

Question Number : 91 Question Id : 7230531633 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
HIF TT A T CRERD # & 9gFT gar g2
Options:

« TR

% HAT
v BEAETY

o,

Question Number : 92 Question Id : 7230531634 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

qTIaT=d AT € TIeT|
Options:

JE

« B

AT

® o
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Question Number : 93 Question Id : 723

D531635 Question Type: MCQ Option Shuffling

Sngte Cine Question Option . NO Optiol
Correct : 1 Wrong: 0.25

Orientation : Vertical

‘qefr’ T =T JATISET Fer &

Options:
% Wl

« T
w TageT

o Jodddl

GET IT ON
Google Play

Yes Display Question Number : Yes

Question Number : 94 Question Id : 7230531636 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

‘Foolld' e FT HalH g

Options:

« B

# HHT

Question Number : 95 Question Id : 7230531637 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

‘FH dely IrT AT F T UF o

Options:
., 7O FekT

% Sl
gﬁﬁm
w RIS

Question Number : 96 Question Id : 7230531638 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct : 1 Wrong: 0.25

frafafEeas & e &1 g oo &2
Options:
% Acde]
% 9d

o

Question Number : 97 Question Id : 7230531639 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25
HYE AT Hi T g7
Options:

, T 3T A &1 I F
. AL et wo FI 2
« Tgge 39 97 @ &

« B AH A% gl

Question Number : 98 Question Id : 7230531640 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

A ROT I I oieT|

Options:

» 2freT °T S 2

. 9% G98 ©F §4 3 gl

» ez gfafea ve wer vedr

. T Ty gig 9o v
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Question Number : 99 Question Id : 723

Sngte Cine Question Option . NO Optiol
Correct : 1 Wrong: 0.25

Orientation : Vertical

D531641 Question Type: MCQ Option Shuffling

FETAT FIAT TH HY FI STF FHLeAaTel HETaT:

Options:
% & AT &=

v T AT

o SId deb o TSl

ST FEET

GET IT ON
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Yes Display Question Number : Yes

Question Number : 100 Question Id : 7230531642 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

‘FH 7 FFAT AT TG 9T ¥ F e

Options:

, & @ A 7 g gy

v 7T 7 FF AT T

% ST I Tolehd ST

3T S9=T S Aeher @1 omeT
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Revisit allowed for view? :
Revisit allowed for edit? :
Break time:

Group Marks:

Section Id :
Section Number :
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Subject Related

6
72305381
0

0
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No

0

20

Subject Related

72305381
1
Online
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Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 723053117
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 7230531643 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

280 students travel either by train or bus or both to get to school. 140 students travel by train and 50 travel by both train
and bus. Find the number of students who travel by bus.

Options:

# 140

# 170
# 180

« 190

Question Number : 102 Question Id : 7230531644 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
280 students travel either by train or bus or both to get to school. 140 students travel by train and 50 travel by both train
and bus. Find the number of students who travel by just one these transport.

Options:
# 200

Question Number : 103 Question Id : 7230531645 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
For the given set A = {0,{1}, 1,0}, identify the statement which is INCORRECT.

Options:
x OEA
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dc A

x {1}1€4

s0CA

Question Number : 104 Question Id : 7230531646 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
How many number of proper subset can be formed of set A = {1,5,7,9}?

Options:
12

® 16

Note: For this question, discrepancy isfound in question/answer . So,this question isignored for all candidates.

Question Number : 105 Question Id : 7230531647 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Let A= {x € R:x* =9 and 2x = 4} . Then which of the following is true?

Options:
vA=0
x A={0}
x A={1}
x A=R

Question Number : 106 Question Id : 7230531648 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
If A ={n € N:ndivides 12} then find the number of elements of §2(4).

Options:
# 8

% 16
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% 32

« 64

Question Number : 107 Question Id : 7230531649 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Let X be auniversal set, A € X, B © X . Then which of following is INCORRECT?

Options:
« A=(A\B)u(4AnB)

% AN B = X\[(A\B) U (B\4)]
« A\B = (X\B)nX

»AUB = (A\B)U (B\A)

Question Number : 108 Question Id : 7230531650 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Let X beauniversalset, AcX . BcX andn(X) =20.n(d)=12,n(B) =9 and n(A N B)= 4. Then n(4A\B) is:

Options:
« 8

® 9
% 10

% 11

Question Number : 109 Question Id : 7230531651 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Let X be a universal set, ACX , Bc X and n(X) =70 ,n(4) =30,n(B) =45 and n(An B)= 10. Then n(4° N B®) is:

Options:
5

% 10
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Question Number : 110 Question Id : 7230531652 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

If A has 5 elements and B has 7 elements, then the minimum number of elements that A U B can have is:
Options:
® 2

®
LA

% 12

Question Number : 111 Question Id : 7230531653 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

IfS={1,2} andT = {2,3,4},then (SUT) X (SN T) is:
j“{og 2),(2,2),(3,2),(4,2)}

« 1(1,2),(2,2),(1,3),(2,3),(1,4),(2,4)}

% 1(2,1),3,1),(4,1),(2,3),(1,4), 2,4)}

® { {:21 1.)1 (31 1)1 (41 1] }

Question Number : 112 Question Id : 7230531654 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The domain of the relation

{y):y=Ix—1|, x€Z,|x] <2} is:
Options:

% 13,2,1,0}

% {0,1,2)

e =3 —2—-1L01.2.3

o {_21_11 {}J 112}
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Question Number : 113 Question Id : 7230531655 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Let: R — R be a function defined as f(x) =

2+

.
. Then:

x
x+1

Options:
% one-one function

w not well-defined
% both one-one and onto

% not onto

Question Number : 114 Question Id ;: 7230531656 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

If f: Z — Zbe a function defined as f(x) = 5x + 2 forall x € Z, then fis:
Options:

% onto

& one-one
% both one-one and onto

% neither one-one nor onto

Question Number : 115 Question Id : 7230531657 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The domain of the function g(x) = /(x? — 3x + 2) is:

Options:
® (_mr mj

w (—%,—2]
x [—1,0)

v (=0, 1]V [2,00)

Question Number : 116 Question Id : 7230531658 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct : 1 Wrong: 0.25

Iffix)= li—j_. then value of |f(2) — f(—2)]| is equal to:
Options:

% 0

® 1

v 2

Question Number : 117 Question Id : 7230531659 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Let f: N — R be defined as f(x) = 3x—1), g:R — R be defined as g(x) =x;. Then (g = f)(0) =
Options:
N |

Question Number : 118 Question Id : 7230531660 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Iff(x)=x",n€N and (g o f)(x) = ng(x). then g(x) can be:
Options:

% nlx]

v log | x|

Question Number : 119 Question Id ;: 7230531661 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct : 1 Wrong: 0.25

GET IT ON
Google Play

If the domain of the function f(x) is [0,2], the domain of the function f(2x + 1) is:

Options:

11]
L 2'2

#1 2

% [0,2]

Question Number : 120 Question Id : 7230531662 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Find the range of the function f(x) =|x — 1|+ |x —2|.x € R

Options:

® (_mr OD)
x (—,1]
v [1,90)

x [1,2]
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Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 723053118
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 7230531663 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The graph of 3(x —1)* + 3, then f: R — R is symmetric about the line:

Options:

owx =1
g x=0
x V=1
x y=20

Question Number : 122 Question Id : 7230531664 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
If f(x) = x* and g(x) = 3* are two real-valued functions, then the number of solutions of (g o f)(x) = (f o g)(x) is:

Options:
# 0

® 1

2

Question Number : 123 Question Id ;: 7230531665 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
If f{x)=2"_then:
Options:

x fx+y)=Ff)A+FO))
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o« FO1) = 2F(x)

x fOy) = fFOf )

s+ =FfG)+flOf(y —x)

Question Number : 124 Question Id : 7230531666 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
For a set of circles in a plane, the relation ‘concentric’ is a/an:

Options:
» €quivalence relation

» reflexive only
% symmetric only

% nNot transitive

Question Number : 125 Question Id : 7230531667 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

x+k? .
1000 { }15:

If {x} and [x] represent fractional and integral part of x, then the value of [x] + X .2} s

Options:
% 1000x

% 0
v X

® 1

Question Number : 126 Question Id : 7230531668 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
If [x] represent the integral part of X , then the range of the function ¥ = [x*] — [x]?,x €[0,2] is:

Options:

x (0}
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. {0,1,2)

x (1,2}

Question Number : 127 Question Id : 7230531669 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Let P(n):n(n + 1)(n + 2) is divisible by 12. Then which of the following is true?

Options:

x P(1)
v P(4)
% P(5)

% P(9)

Question Number : 128 Question Id : 7230531670 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
If P(n):4n+ 3 is a prime number, then which of the following is INCORRECT?

Options:
% P(1)

% P(2)
v P(3)

x P(4)

Question Number : 129 Question Id : 7230531671 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
A student tried to prove a statement by induction. She proved that P(2) is true. P(n) istrue = P(n+ 1) is true for

1t € N . Then P(n) is true for all
Options:
#neE N,

=2,
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g n>?2

x n>3.

Question Number : 130 Question Id : 7230531672 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Find the values of n € N for which P(n): 2™ > n®
Options:
# n=2

Question Number : 131 Question Id : 7230531673 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

Let P(n):n® —n + 41 is a prime number. Then which of the following is INCORRECT?
Options:

x P(4)
x P(5)
x £(9)

» P(a1)

Question Number : 132 Question 1d : 7230531674 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
IfnC,_, = 28, the value of n is:

Options:
® 6

® 7

8
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® 9

Question Number : 133 Question Id : 7230531675 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
If(n+1)P; =18 X (n— 1)F,, then the value of 1 is:

Options:
# 4ors5

® 60r7
& 30r9

% 10or1ll

Question Number : 134 Question Id : 7230531676 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
How many diagonals are there in a polygon of 15 sides?

Options:
« 90
# 105

# 120

# 135

Question Number : 135 Question Id : 7230531677 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
In how many ways can 5 ladies and 5 gentlemen be seated at a round table so that no two ladies are next two each other?

Options:
% 24

# 120

« 2880

Question Number : 136 Question Id : 7230531678 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct : 1 Wrong: 0.25

5 balls of different colors are to be placed in 3 boxes of different sizes. Each box can hold 5 balls. In how many
different ways can we place the balls so that no box remains empty?

Options:
# 60

% 90

Question Number : 137 Question Id : 7230531679 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
How many different words can be formed using all the letters of the word ORDINATE so that the vowels occupy odd
places?

Options:
# 400

% 441
# 4384

576

Question Number : 138 Question Id : 7230531680 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The number of terms in (5x + 7y — 82)? is:

Options:
® 210

W 231

# 276

Question Number : 139 Question Id : 7230531681 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The number of arrangements of the letters of the word BANANAS in which two N’s do not appear adjacently is?

Options:
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o 300

# 400

# 500

# 600

GET IT ON
Google Play

Question Number : 140 Question Id : 7230531682 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

For any complex number z , the minimum value of |z| + |z — 2i] is:

Options:
® 0

% 1

2
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Sub-Section Number: 1
Sub-Section 1d: 723053119
Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 7230531683 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
If z;,2,,2; are complex number such that

1z, = |z,] = |zs| = =+ =+ 2| =1, then |z; + 2, + 75| is:
1 z: Eg

Options:

» equal to 1

% less than 1

« greater than 3

% equal to 3

Question Number : 142 Question Id : 7230531684 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

If a, b, ¢ are distinct non-negative integers and @ # 1 is a cube root of unity. then minimum value of
x = |a + bw + cw?| + |a + ba? + cw| is:

Options:

v 62

Question Number : 143 Question Id : 7230531685 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The locus represented by [z — 1| = |z + i] is:
Options:

% acircle of radius 1

 an ellipse with foci at (1.0) and (0.-1)
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| a straight line through the ofigin

% acircle on the line joining (1.0), (1,0) as diameter

Question Number : 144 Question Id : 7230531686 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
3 ? . (1+i) . . ; : 5
The triangle formed by the points 1, —5 -l asverticesin the Argand diagram is:
3

Options:
% scalene

% equilateral
" 1s0sceles

» right-angled

Question Number : 145 Question Id : 7230531687 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Ifw®*=1andw # 1, then (1 + @)(1+ @?)(1+ w*)(1+ w®) =2

Options:
® 3

% =3
® 9

1

Question Number : 146 Question Id : 7230531688 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Consider a quadratic equation az® + bz + ¢ = 0, where a, b, ¢ are complex numbers. The condition in which the
equation has both real roots is:

Options:

e b_c
® a b c
a_b_c
vwa b ¢
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Question Number : 147 Question Id : 7230531689 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The square roots of the complex number 7 + 241 are:

Options:
w 4— 30,4+ 31
v —4—3i,4+3i

¢ <4874 — 37

x —4—3i,—4+3i

Question Number : 148 Question Id ;: 7230531690 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

. gl
The sum of the first 20 terms of the series - + 5 + 7 + *** is:
L L L

Options:
» 10+ 1)
% 20i
« 20(1—1)
% 10i

Question Number : 149 Question Id : 7230531691 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Solve for x .

dx+7 <2x+1
Options:
® x<1
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| % x < —1
s —3
% x< 3

Question Number : 150 Question Id : 7230531692 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Ifa and b are positive, @ > b, then which of the following is true?

Options:
b 1
et ::, =
# atb 2
b 1
L eeral .:: F
o a+b 2
b 1
# atb 2
a 1
% a+b i

Question Number : 151 Question Id : 7230531693 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The area indicated by the shaded portion in the following figure is represented by:

1

|

Options:
GE=ELy=<2 Ix+3Iy=0, x,3=0
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g X2 y=2 2x+3y=h x,y=1

g X=2, yv=22 2x+3y=<6, x,y=0

g x22,y22, 2x+3y=6, x,y=1

Question Number : 152 Question Id : 7230531694 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The maximum of the function

f(x,y,2) = 5x — 6y + 7z on an ellipsoid
2x%+3y*+4z°=11is

Options:

Question Number : 153 Question Id : 7230531695 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Solve [4x+2|< 6
Options:

# —1<x=<2

Question Number : 154 Question Id : 7230531696 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Solve: 2|x|—3 > b —1]

Options:

% [2,90)
% (—oo, —2]U [4, )
o (—Oﬂ’ _4] U [ZJCO]

% (—o0,—4]

Question Number : 155 Question Id : 7230531697 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The sum of the coefficients of the polynomial

(14+2x—3x%)2%2 is;
Options:
® —2

Question Number : 156 Question Id : 7230531698 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The coefficient of x*° in the polynomial

(x— 1D (x—2)...(x—100) is:
Options:

% 4050

% —4050

% 5050

«+ —5050

Question Number : 157 Question Id ;: 7230531699 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct : 1 Wrong: 0.25

If(l1+ax)" =1+8x+24x%+ - thena is

Options:
#® 1

2
® 3

R |

Question Number : 158 Question Id : 7230531700 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Let nn be a positive integer. If the coefficients of 2nd .3rd. and 4th terms in the expansion of (1 + x)™ are in arithmetic
progression, then the value of n is:

Options:

% 3

o 7

Question Number : 159 Question Id : 7230531701 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

In the binomial expansion of (@ — b)" . n = 5, the sum of the 5™ and 6™ terms is zero. Theng 1s:

Options:
n—>5

¥ b6
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Question Number : 160 Question Id : 720531702 Question Type: MCQ Option Shufflind: Yes Display Question Number : Yes

Singie Cine Question option - No_option Orientation : Vertical
Correct : 1 Wrong: 0.25

Coefficient of t?*in (1 + )2 (1 + 1) (1 + t2Y) is:

Options:

u 128

w 12641

s 12C,+2

« 12643

subject Belated

Group Number : 9

Group Id : 72305384

Group Maximum Duration : 0

Group Minimum Duration : 0

Revisit allowed for view? : No

Revisit allowed for edit? : No

Break time: 0

Group Marks: 20

subject Related

Section Id : 72305384
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section Id: 723053120
Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 7230531703 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

If three positive real numbers @, b, ¢ are in arithmetic progression such that abc = 4, then the minimum possible value
of b is:

Options:
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% 22
o 22
® 2§
® 23

Question Number : 162 Question Id : 7230531704 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
: T ‘&
lo e e T I
The value of y = ({].64)( Z0.25(5+32 55+ is:
Options:
% 09

« 0.8
% 0.6

% 0.25

Question Number : 163 Question Id : 7230531705 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Hi+a Hy+b |
i+ H“ ~ is equal to:

1~ n

If H,,H,, ... H, are n harmonic means between @ and b(+* a), then the value of

Options:
g ntl

#n—1

& 2n

% 2n+3

Question Number : 164 Question Id : 7230531706 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
If three positive real numbers a, b,¢ (¢ > a) are in harmonic progression, then log(a + ¢) + log(a — 2b + ¢) is equal to:

Options:
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w«21l0g(c — h)

« 2logla+c)

» 2loglc —a)

» loga +logb +logc

Question Number : 165 Question Id : 7230531707 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Suppose a, b, ¢ are in arithmetic progression and a*,b?, ¢? are in geometric progression. Ifa < b < ¢ and

g+t ec= %, then the value of a is:

Options:
1
% 242

5
L
u31|'“

b
P | e
sl

B |
|
e

<
=
ra

Question Number : 166 Question Id : 7230531708 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Find the coefficient of X* in the expansion of e***?

Options:
% 3e?

Question Number : 167 Question Id : 7230531709 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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The number of solutions of lop, (x — 1) = log, (x — 3) is:

Options:
# 3

o 1

® 2

Question Number : 168 Question Id : 7230531710 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
What is the remainder when 1! + 2! +---100! is divided by 15?

Options:
#® 1

® 2
3

R |

Question Number : 169 Question Id : 7230531711 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
What is the remainder when 162 is divided by 72

Options:
% 1

% 2

® 3

4

Question Number : 170 Question Id : 7230531712 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Consider the following:

P(n):1+3+5+--+ 2n—1)= (n—2)?. Then P(n) is true for:

Options:
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2 alln>=1

% alln> 2
v =1 only

« =2 only

Question Number : 171 Question Id : 7230531713 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The number of positive integers n < 2076 and divisible by neither 4 nor 5 is:

Options:
« 1034

# 831
# 103
® 519
Note: For this question, discrepancy isfound in question/answer . So,this question isignored for all candidates.

Question Number : 172 Question Id : 7230531714 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which one of the following is NOT correct?

Options:
. ged(42,12) = (3)42+ (—10)12

» 8cd(42,12) = (—1)42+ (3)12
« gcd(42,12) = (—3)42+ (11)12

. gcd(42,12) = (—5)42 + (18)12

Question Number : 173 Question Id : 7230531715 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following is true?

Options:
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=1 _w ) is a prime number

« gcd(a,b) = ged(a,a — 2b)
« gcd(a,b) = 1 = ged(b, ¢), then gcd(a,c) =1

» ged(a,b) = ged(a,a — b)

Question Number : 174 Question Id : 7230531716 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The number of positive integers that are less than 18 and are relatively prime to 18 is:

Options:
% 3

® 4

6

Question Number : 175 Question Id : 7230531717 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Ifa,b,c ER anda + b + ¢ = 0, then the quadratic equation 3ax® + 2bx + ¢ = 0 has:

Options:
. at least one root in [0.1]

% at least one root in [1.2]

at least one root in F, 2]
% 2

% no real roots

Question Number : 176 Question Id : 7230531718 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
If the product of the roots of the equation

x? —3kx + 2e*™% — 1 = 0 is 7. then the roots are real for k =

Options:
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% 1

2

® 4

Question Number : 177 Question Id : 7230531719 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
If the quadratic equations x* + ax+ b = 0 and x> + bx + a = 0, a # b, have a common root, then the numerical

valueof a + b is:
Options:
« =1

® 0

% 1

Question Number : 178 Question Id : 7230531720 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Leta > 0,b =0 and ¢ > 0. Then both the roots of the equation ax?+bx+c=0:

Options:
 are real and negative

» have negative real parts
% have positive real parts

% are purely imaginary

Question Number : 179 Question Id : 7230531721 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Ifa+ b + ¢ = 0, then the quadratic equation

3ax® — 2bx + ¢ = 0 has:

Options:
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< at least one root in (0,1)

% one root in (2,3) and the other in (—2,—1)
% Imaginary roots

» at least one root in (—1,0)

Question Number : 180 Question Id : 7230531722 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Let @, B be the roots of the equation (x — a)(x — b) = ¢, ¢ # 0, then the roots of the equation

(x—a)(x—L)+c =0 are:

Options:

# Q,C

¢ b, C

o A, b

x at+chb+c

subject Related

Group Number : 10

Group Id: 72305385

Group Maximum Duration : 0

Group Minimum Duration : 0

Revisit allowed for view? : No

Revisit allowed for edit? : No

Break time: 0

Group Marks: 20
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Section Number : 1
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Sub-Section Number: 1
Sub-Section 1d: 723053121
Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 7230531723 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

If the roots of the equation x> — 2ax + a* + @ — 3 = 0 are real and less than 3, then:
Options:

o Q<2

Question Number : 182 Question Id : 7230531724 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The set of all real numbers x for whichx* — |x + 2] + x > 0 is:
Options:

% (—9,—2) U (2,)

» (=0, —V2) U (¥2,00)
% (—o0,—1)U(1,00)

« (V2,00)

Question Number : 183 Question Id : 7230531725 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

IfA= [‘? 2] and B = [; 2] . then value of 8 for which A* = B is:

Options:
% 1

% —1
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| = 4

+ 1o real values

Question Number : 184 Question Id ;: 7230531726 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

HA=— [‘g E,] and [A*| = 125, then the value of f is:

Options:
% +1

% +2
o 13

% +5

Question Number : 185 Question Id : 7230531727 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The system of equations

ax+by+ez=q—r
bx+cy+taz=r=p
cx+ay+bz=p—q

Is:

Options:
w2 consistentifp =q =71

% inconsistent if@ = b = ¢ and p, g, are distinct
% consistent ifa, b, ¢ are distinctanda+b+e=0

w inconsistentifp # q F 1

Question Number : 186 Question Id : 7230531728 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.25

If @ is a complex cube root of unity, and A = [({A]J E}], then A% is equal to:

Options:
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Question Number : 187 Question Id : 7230531729 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

IfP — [g ﬂ i P8 s

Options:

®

1

27

1
0

—3
L0

1
0

=

L 0

—26
— 2

—26
—27

—26
27

26
—2F

Question Number : 188 Question Id : 7230531730 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

The points A(2,3),B(3,5),C(7,7) and D(4,5) are such that:

Options:

« ABCD is a parallelogram
% A, B,C and D are collinear
» D lies inside the triangle ABC

% D lies on the boundary of the triangle ABC

Question Number : 189 Question Id : 7230531731 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.25
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If the cirumcentre of a triangle liek at the origin and the centroid is the middlg point of the line joining the points

(a®* + 1,a* + 1) and (2a, —2a), then the orthocenter lies on the line
Options:
y=(a*+1)x

4

% V=2ax
x X ¥Fy=_0

slo—1Px—(a+1)Py=0

Question Number : 190 Question Id : 7230531732 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The points (@, 2,—2a), (—a+1,2a) and (—4 —a,6 — 2a) are collinear for:
Options:

% all values of a

wa=-—1
s a=1

% no value ofa

Question Number : 191 Question Id : 7230531733 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The points (p,q +71),(q,7 +p) and (,p + q) are:
Options:

% vertices of an equilateral triangle

% concyclic
« vertices of a right angled triangle

« collinear

Question Number : 192 Question Id : 7230531734 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

If P and Q@ are points in the plane such that % = k (constant) for all S on a given circle, the value of k is:
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Options:

1
® -1

® 2

Question Number : 193 Question Id : 7230531735 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The equation of the line passing through the points of intersection of the circles 3x* + 3y? —2x+ 12y —9 =0 and
x2+yi+6x+2y—15=0 is:

Options:

% 10x—3y+18=0

« 10x+3y—18=0
,10x—3y—18=0

. 10x+3y+18=0

Question Number : 194 Question Id : 7230531736 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
If x + y = k isnormal to y* = 12x, then k is:

Options:
® 3

9

Question Number : 195 Question Id : 7230531737 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Let M be a variable point on the ellipse ":—2 + ':—: =1 with foci F;and F,. If A is the area of the triangle MF, F, . then
the maximum value of 4 is:
Options:
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halia? B2y
"‘U;J U\fl‘-l.rl.r or J
x aV(a®—b?)
« V(% —a?)

o aV (b? —a?)

Question Number : 196 Question Id : 7230531738 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25
The equation = — 2 = 1 || < 1
e equation — — —— = T represents:
q 1-r 1+r ’ pl['

Options:
« an ellipse

» ahyperbola
% acircle

% A pair of straight lines

Question Number : 197 Question Id : 7230531739 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
¥ = 10% is the reflection of y = log,, x in the line whose equation is:

Options:

x y=10x

v

x Yy=x1+10
%) " 10

Question Number : 198 Question Id : 7230531740 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The equation of the common tangent to the curves y* = 8x and xy = —1 is:

Options:
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g oy =0yF 2

s V=2x+1
% 2y=x18
sYy=x+2

Question Number : 199 Question Id : 7230531741 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

A hyperbola, having the transverse axis of length 2sin 8 . is confocal with the ellipse 3x* + 4y = 12. Then its
equation is:

Options:

« X2 cosec’8 —y?sec’§ =1

o x2sec?@ — y%cosec? 8 =1
% x?sin?8 —y?cos?f =1

x X2r0s2 8 —yZsin®d =1

Question Number : 200 Question Id : 7230531742 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The value of cos(60° — 8) cos 8 cos(60°+ @) is:
Options:

% tan 36

# 3tan@
B G)sinBﬂ

< G) cos 30
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Question Number : 201 Question Id : 7230531743 Question Type:

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.25

COSX

2sin x
If—.={I_.'[hEIl ; = A
l+cosx+sinx 1+=zin x
Options:

1
® a
w1— o
# 14+ a
# a—1
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No

20
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MCQ Option Shuffling : Yes Display Question Number : Yes

Question Number : 202 Question Id : 7230531744 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.25

Ifa =sinx+ cosyand f = cosx + siny, then tan (x;—v) = ?

Options:

x d—f
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a+ S

L T

(a—p)
o (a+p)

{a+5)
# (a—-pB)

Question Number : 203 Question Id : 7230531745 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
When x + y = z, then cos? x + cos® y + cos? z— 2cosx cos y cosz = ?

Options:
# 0
v 1

% sin?z

% cos’z

Question Number : 204 Question Id : 7230531746 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
cos3d

[f& =cosx +cosy,f =sinx +siny and x —y = 26 then 5
COS

Options:
2 2 3
S TP

% 3_'12_]82

g @t +p%—1
(a®+p2%]

b 3

Question Number : 205 Question Id : 7230531747 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The relation sinx + 2sin2x =3 +sin3x, 0 < x < 271 has:
Options:

% one solution in each quadrant
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.. two solutions in the first quhdrant

» 10 solution in any quadrant

% one solution in the second quadrant

Question Number : 206 Question Id : 7230531748 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
In a triangle ABC,. if cos Acos B + sinAsin B sin € = 1, then the triangle is a/an:

Options:
% isosceles

« equilateral
% Obtuse-angled isosceles

» right-angled isosceles

Question Number : 207 Question Id : 7230531749 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
If in a triangle ABC, sines of angles A and B satisfy the equation 4x* — (2\/@x+ 1 = 0. then cos(A —B) is:

Options:

—

& 2

®
Sl

~| G

B
S

Question Number : 208 Question Id : 7230531750 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
A ladder of length 6 m makes an angle of 45° with the floor while leaning against one wall of a room. If the foot of the

ladder is kept fixed on the floor and it is made to lean against the opposite wall of the room, it makes an angle of 60° with
the floor. What is the distance between these two walls of the room?

Options:
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»3(1+v2)m

;33‘\1@111

# 3m

Question Number : 209 Question Id : 7230531751 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

The angle of elevation of a stationary cloud from a point 2500 m above a lake is 15%and the angle of depression of its
reflection in the lake is 45°. The height of the cloud above the lake level is:

Options:
# 7500 m

« 2500¢/3 m

% 125043 m

Question Number : 210 Question Id : 7230531752 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The number of positive integral pairs (a. b) satisfying the equation tan~*(a) + tan=*(b) = tan~*(7) is:
Options:

2

® 0

% 4

% infinite

Question Number : 211 Question Id ;: 7230531753 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
1 r ] X %
When x + (;) = — then the principal value of sin 1(x) is:

3
232

Options:
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Question Number : 212 Question Id : 7230531754 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
b :
Iftan—? G) tan (—) = g _ then the value of x is:

X.

Options:
a

# b

s ab

v Vab

Question Number : 213 Question Id : 7230531755 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
When cos™(x) + cos™(y) = g and tan~1(x) —tan~(y) = 0, then x% + y? + xy is:

Options:
1
% 8

4
b | Lad =

S

®
b | =2
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Question Number : 214 Question Id : 7230531756 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

If @ = sin(cot™(x)) and # = cot(sin™*(x)), wherex > 0, thenx™? —x% = ?
Options:

Question Number : 215 Question Id : 7230531757 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Htant (%) = 4 then the value of x is:
Options:

% tan(2)

% tan(4)

» tan(8)

o tan ()

Question Number : 216 Question Id : 7230531758 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

.  @sinx—sin 22 d
If lim e b . then the values of a and b are respectively:
=0 an® x

Options:
# —1and 2

% 2and 3

and 1

{
b
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Question Number : 217 Question Id : 7230531759 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Using Rolle’s theorem for a function f(x) = x(x + 1)(x + 2)(x+ 3). f'(x) = 0 has:
Options:

« three real roots

% four real roots
% two real roots

% two real roots and complex root

Question Number : 218 Question Id : 7230531760 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Applying Lagrange’s Mean Value theorem to the function f(x) = x + G) in [0.5, 3]. the value of ¢ between 0.5 and 3 is:
Options:

®

4

<

-
i N & i & i |
L1

Question Number : 219 Question Id : 7230531761 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

If the derivative of the function y = f(X) is zero always, then vy is:
Options:

% an increasing function

» adecreasing function

» heither an increasing function nor a decreasing function

% not stationary
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Question Number : 220 Question Id : 7230531762 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

If the normal to the curve y? = 5x — 1 at the point (1. —2) is of the form ax - 5y + b = 0, then the values of a and b are
respectively:

Options:

% 4,14

i ~ap 14

% —4.—14

s 4—14
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Question Number : 221 Question Id : 7230531763 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

The extreme value of f(x) = (x)~ is:


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

Options:

e

% 1

1
o (e)e

K -]

® €

GET IT ON
Google Play

Question Number : 222 Question Id : 7230531764 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

The value of the integral f_ll (2 — |x|) dx is:

Options:
« 3

R | @

| b3

Ll | b

Question Number : 223 Question Id : 7230531765 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

The average value of f(x) = V4 —x? on[—2. 2] is:

Options:
o

% 4

3
x 2

b S

Wl
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Question Number : 224 Question Id : 7230531766 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The area of the region enclosed by the parabola ¥ = 2 — x* and the straight line y = —x is equal to:

Options:
% 4

Question Number : 225 Question Id : 7230531767 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Z
Using the Fundamental theorem, determine the value of the integral [ 1x cost dt.

Options:
® 2XCOSX

% X COSX°
2
# 3xcosx

 2xcosx?

Question Number : 226 Question Id : 7230531768 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

The volume of the solid generated by revolving the region between the y-axis and the curve x ==, 1 =y = 4 about

the y-axis is:

=

Options:
® 3

31

% 27

® T

Question Number : 227 Question 1d : 7230531769 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct : 1 Wrong: 0.25

L
Liras T VEInX
The value of the integral f;

—

I—dx 15:
4/ sinx++cosx

Options:
T

#® 2

% 1

Question Number : 228 Question Id : 7230531770 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
I
: : 2 d?y dyy\ 2]z x
The order and degree of the differential equation (ixz) = [1 4 (ﬂ) ] are respectively:

Options:
% 2and 1

% 2and 3
% 1and?2

o 2 and 2

Question Number : 229 Question Id : 7230531771 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The solution of the differential equation (v* — xy)dx + x* dy is:

Options:

e In(x)+C
® X

X

—=1n(y)+C
x Y

%z In(x)+ C


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda@H7

Question Number : 230 Question Id : 7230531772 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The solution of the equation cos(x + y)dy = dx is given by:

Options:

Question Number : 231 Question Id : 7230531773 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The solution of the equation (x + 1) (‘%) —y=e"(x+1)% is:

Options:
Y
——=e*+C
#x—1 5
2 - S
# x+1
i =e* +C
srx+1
¥
=e* +C
# 1—x i

Question Number : 232 Question Id : 7230531774 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The solution of the differential equation (xy sinxy + cos xy)y dx + (xy sinxy — cosxy)x dy = 0 is:

Options:
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g xcosxy=Cyx

x Xcosxy =y +C
g yeosxy=C+x

» ycosxy = Cx

Question Number : 233 Question Id : 7230531775 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
d : ; ) )
If (ﬁ) +2ytanx =sinx.y G) = 0 then the maximum value of v is:

Options:

v 8

1

s
B | =2

O a2

Question Number : 234 Question Id : 7230531776 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The differential equation (ay? + x + x®)dx + (v® — y + bxy)dy = 0 is exact if:

Options:

xwa=1.b=3
# a=Db
wa=2.b=1
« b=12a

Question Number : 235 Question Id : 7230531777 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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- & e = =y a - =~ . . . - R 3
=21 —f—Sk-and b=+ + 3] — 4k, then the direction cosines oftheveetor a—2b—iseiven by
Options
3 4 12

Question Number : 236 Question Id : 7230531778 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

: . P MAA M A FA .
The projection of the vector i -2 j+kon 4i—4 j+7k is:

Options:

19
o 9

4
9

WO~

O] 0o

Question Number : 237 Question Id : 7230531779 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The angle between the vectors 2 + 6j + 3k and 127 — 4j + 3k is:

Options:
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% LU l\E}

Question Number : 238 Question Id : 7230531780 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The unit vector perpendicular to both the vectors 21 +§ — k and i— -k 2k is:

Options:

Question Number : 239 Question Id : 7230531781 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
If the vectors d =1+ j + k,b=2i—4kandé =1+ Aj + 3k are coplanar, then the value of 4 is:
Options:

% —4

w | | w

~1 |t

Question Number : 240 Question Id : 7230531782 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

If @+ b| = 60, |@— b| = 40 and || = 46, then |d| is equal to:
Options:

W 22
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Question Number : 241 Question Id : 7230531783 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

If the scalar product of 1 + j + k with the unit vector parallel to the sum of 27 + 4j — 5k and Ai + 2] + 3k

is equal to unity, then the value of A is:

Options:
v 1
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® 7
# —h

Question Number : 242 Question Id : 7230531784 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

If the distance between two points (x,—8&. 4) and (3.—35. 4) is 5, then the positive value of x is:
Options:
#® 3

7

® 4

Question Number : 243 Question 1d : 7230531785 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
‘What are the co-ordinates of a point which divides the line joining the points (2.—4, 3) and (—4, 5.—6) in the ratio 1 :—4?
Options:

® (3? 3, 5}
v (4,-7.6)
% (—2,2,-3)

Question Number : 244 Question Id : 7230531786 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The direction cosines of the line joining the points (4, 3,—5) and (-2, 1,—8) are:

Options:
% 6,2,3
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6 2 3

o 72'7'7

Question Number : 245 Question Id ;: 7230531787 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The distance of the point (1, —2.3) from the plane x — ¥ + z — 5 = 0 measured parallel to the line ;—C = ; == is:

Options:
® 2

o 1

®
L

Question Number : 246 Question Id : 7230531788 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The perpendicular distance from the point (1, 0.—3) to the straight line x; = = is:

Options:
# 2

R |
3

% 1

Question Number : 247 Question Id : 7230531789 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The equation of the plane in terms of the intercepts of a. b. ¢ from the axes is of the form:

Options:
x x—a)y—-b)+(z—c)=1

A0+6)+()-1

g ax+by+tcz=1
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Question Number : 248 Question 1d : 7230531790 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The equation straight line v =0, z = 0 in symmetrical form is:

Options:
X ¥y Z
w1 A 0
X ¥y Z
«0 1 1
X ¥y Z
1. B0

Question Number : 249 Question Id : 7230531791 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
—a =z—3 x—3 +7 z—6
=== and =7

) E x—3
The shortest distance between the lines ; e 3 : -

Options:

3
=20
5
2
E-‘JEU

13
v 5

V30

3
S

Question Number : 250 Question Id : 7230531792 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
i i i i 2 3 1 4 2
The angle between the plane x + 2y — 3z +4 = 0 and the line whose direction cosine are T3’ Va2’ Vs 1S given by:

Options:
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i
« < (1)
o (53)
o (33
P sin™? (%)

Question Number : 251 Question Id : 7230531793 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
A plane passes through a fixed point (a, b. ¢) and cuts the axes at A. B, C. Then the locus of the centre of the sphere OABC
is:

Options:

Question Number : 252 Question Id ;: 7230531794 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The equation of the sphere on the join of (1. 1, 1) and (—1.—1.—1) as diameter is:
Options:

e X2+ yi+zt=1

x 2Ly 2841 =0

X2+ y:+2z2=3

x X2+ 22 4+3=0
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Question Number : 253 Question Id : 7230531795 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25
A man travelled 12 hours at 4 m/'h. and again 10 hours at 5 m/h. What is his average speed?

Options:
« 4.45 m/h

% 4.15m/h
% 4.40 m/h
% 4.10m/h

Question Number : 254 Question Id : 7230531796 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.25
The numbers 3.2, 5.8, 7.9 and 4.5 have frequencies x, x+2, ¥—3 and x+6. If the arithmetic mean is 4.876. then the value

of xis:
Options:
% 3

Question Number : 255 Question Id ; 7230531797 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Correct: 1 Wrong: 0.25

Single Line Question Option : No Option Orientation : Vertical
The weight of 11 forty-year-old men is 148, 154, 158, 160, 161, 162, 166, 170, 182, 195 and 236 pounds. If the weight
of the heaviest man is omitted. then the percentage change in the range is:

Options:
v 47%

% 42%

2%

L

5%

% 44%
Question Number : 256 Question Id : 7230531798 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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|_The mean deviation of the values 8, 15, 53, 49, 19, 62, 7, 15, 95, 77labout the median is:

Options:
# 26.1

®

[ ]
Lh
o

4
I-J
-]
| o]

Question Number : 257 Question Id : 7230531799 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

The mean and standard deviation of 20 items is found to be 10 and 2, respectively. At the time of checking, it was found
that one item 8 was incorrect. If the item 8 is replaced by the correct one i.e. 12, then the correct mean and standard
deviation are respectively:

Options:

% 10.11 and 1.997

% 10.01 and 1.917

% 10.01 and 1.097

« 10.2 and 1.99

Question Number : 258 Question Id : 7230531800 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The mean and standard deviation calculated from 20 observations are 15 and 10. respectively. If an additional
observation 5. left out through oversight, is included in the calculations, then the corrected mean and the standard
deviation are respectively:

Options:

% 14.83 and 9.78

« 14.52 and 9.99

% 12.26 and 9.19

% 8.36 and 9.91

Question Number : 259 Question Id : 7230531801 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Calculate the mean deviation hbout the mean for the data given beldw

Class: 4 -5 6-7 |8-9|10-11 (12—-13 (14— 15

Frequency: 4 10 20 15 3 3

Options:
# 2.48

Question Number : 260 Question Id : 7230531802 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
A lot contains 12 items. of which 4 are defective. Three items are drawn at random from the lot. one after the other.
What is the probability that all three are non-defective?

Options:

14
« bh

16
% bb

12
% 5b

1
%5
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Question Number : 261 Question Id : 7230531803 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Let A and B be any two events such that P(A) = 0.6, P(B) = 0.3 and P(AN B) = 0.2, Then P(AclB‘:) =7

Options:

B
W | LAd

b | =

®

S
~lw

L] 2

®

Question Number : 262 Question Id : 7230531804 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

A box B contains 5 red marbles and 4 blue marbles, and another box C contains 3 red marbles and 2 blue marbles. A
marble is drawn at random from each box. What is the probability that both marbles will be red?

Options:

oo

#

LI |
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Question Number : 263 Question Id : 7230531805 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
If the probability density function of a discrete random variable X is defined by

P(X=x)=1/2% for x=1,2.3....,then P(X = 4) =2

Options:

7

# 8

| =

s
~1| =

S
Col =

Question Number : 264 Question Id : 7230531806 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Suppose 300 misprints are distributed randomly throughout a book of 500 pages. What is the probability that a given
page contains 2 or more misprints?

Options:
# 0.320

 0.122
# 0.549

% 0.1

Question Number : 265 Question Id : 7230531807 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
kifa<x<bh

: then the
0 otherwise '

If the probability density function f(x) of a continuous random variable X is given by f(x) = {
mean X is:
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Options:

{a+b)
o 2

#® (h—a)

Question Number : 266 Question Id : 7230531808 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

A box contains 3 red marbles and 2 white marbles. A marble is drawn and replaced three times from the box. What is
the probability that at least one red marble was drawn?

Options:
26

# 125

117
o 125

113
# 125

Question Number : 267 Question Id : 7230531809 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Under which of the following conditions does the space (R,D,&) fail to be vector space under the operations @ and ®
defined by a®b = a® and k®a = ka, where R denotes the set of all real numbers?

Options:

% Addition is associative

« Addition is not commutative
% Additive inverse

% Additive identity
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Question Number : 268 Question Id : 720531810 Question Type: MCQ Option Shufflind: Yes Display Question Number : Yes

Singie Cine Question option - No_option Orientation : Vertical

Correct : 1 Wrong: 0.25

Which of the following subset K of a vector space R* is NOT a basis for R* ?
Options:

Question Number : 269 Question Id : 7230531811 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Identify that the function T from R* to R* defined below is NOT linear.

Options:

T X
v T(y.) = yz]
T(0GD =
(D =E

.T(GD =5

Question Number : 270 Question Id : 7230531812 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
If A isam X n matrix. then:

Options:
% rank(A) -+ nullity (A)<n

» rank(A) — nullity (A) =n
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< rank(A) +nullitv (A)=m

» rank(A) -+ nullity (A) <m

Question Number : 271 Question Id : 7230531813 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
If A is an eigenvalue of an invertible matrix A, then the eigenvalue of A7 is:

Options:

® A

v

#
B | b2

Question Number : 272 Question Id : 7230531814 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

% x
Let T be linear operator on R® defined by T ([}'D = [—y} . Then the matrix of T relative to the standard basis for R? is:
i z

Options:
1 0 0
0 -1 0
s10 0 1
(1 0 1]
1 -1 0
willl 1
1 0 0
0 1 0
#10 0 1
—1 0 0
0 1 0
x L0 0 -1

Question Number : 273 Question Id : 7230531815 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Let §2- denote the vector space of p

plynomials of degree less than or equal to 2.

T(1) =1+ xT(x) = 2+ x?, T(x?
Options:

o —3+ 4x — x?

% 1+ 4x + 4x?

% 1—4x —4x?

% —1—4x 4472

)=x—3x, then T(—3 + x — x?) is:

GET IT ON
Google Play

T: ., — - is a linear operator and

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all candidates.

Question Number : 274 Question Id : 7230531816 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
If T:R* - R® and dim(R(T))

Options:
® 3

2

% 1

— 2, then dim(N(T)) = ?

Question Number : 275 Question Id : 7230531817 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

1 1
The singular values of A=[p 1] is:
1 0

Options:

v 13
i 13
i 2.4

% 1.4

Question Number : 276 Question Id : 7230531818 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct : 1 Wrong: 0.25

;iifx € [—2,0]
x?if x € [0,2]

The range of the function f(x) =[ is given by:

Options:

o [_1.' "1']
- [_2.' 2]

& (_2.' 2}

Question Number : 277 Question Id : 7230531819 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
1if x is rational

0if xisirrational’ then E_I,Ié fx):

If f:[-1,1] = R is a function defined by f(x) = {

Options:
% 1s not equal to 0 and 1

% 1s equal to 1
% 1s equalto O

w does not exist

Question Number : 278 Question Id : 7230531820 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

2 2
The radius of convergence of the series 1 — G) * (x?) = (x:) e
Options:

® 0

w —1

Question Number : 279 Question Id : 7230531821 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct : 1 Wrong: 0.25

Which of the following functions is the only analytic function?

Options:

% f(2) =R(iz)
v f(2) = sin(z)
% f(z) =Im(z)

x f(2)=12

GET IT ON
Google Play

Question Number : 280 Question Id : 7230531822 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

T

Ifé (I — ;) denotes the unit impulse function, then the Laplace transform of sin 2¢4 (t — E) is:

Options:
—T5
ve 4
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Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 723053126
Question Shuffling Allowed : Yes

Question Number : 281 Question Id : 7230531823 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
What behaviour is exhibited when Sita takes responsibility for not being there for her friends when they are in need

Options:
% Social maturity

» Responsibility
» Compassion

% Charitable disposition

Question Number : 282 Question Id ;: 7230531824 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which is the scheme in 2018 has proposed in the Union Budget with a view to improving school effectiveness, at all
school stages?

Options:
» SamagraShiksha

% Sarva Shiksha Abhivan
% Rashtriva Madhyamik Shiksha Abhiyvan

% Teacher Education

Question Number : 283 Question Id : 7230531825 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of these is NOT a characteristic feature of a well-designed active learning strategy?

Options:
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« Bverv student acting on thelmaterial either individually or with others

» Arelatively long time frame
% Clear, meaningful. and uncomplicated goal of activity

« Unambiguous description of the nature of the end product — be it a list, an answer, a choice, or a structure.

Question Number : 284 Question Id ;: 7230531826 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Identify the learning style from the given description:

Shyam is a 6t grader, fond of learning through charts, diagrams, and visual aids. Textbooks that are dominated by
words, without illustrations. bore him.

Options:
» Visual / Non-verbal Learning style

% Vvisual /Verbal Learning style
» Tactile Learning style

% Auditory Learning style

Question Number : 285 Question Id : 7230531827 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
What is the function of language. when it is used to communicate information. known as?

Options:
« ExXpressive function

« Informative function
% Directive function

» Inspiring function

Question Number : 286 Question Id : 7230531828 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of these is NOT a characteristic of mathematics?
Options:
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« Logical sequence

» Peculiar symbolism
% Abstractness

» Inquiry approach

GET IT ON
Google Play

Question Number : 287 Question Id : 7230531829 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.25

Which one of the following approach would ensure gender equality in textbooks?

Options:
» Using both girls and boys names in examples

» [lustrating common stereotypes about boys and girls
« Including pictures of boys doing activities which girls usually do

» Using feminist writing as source material

Question Number : 288 Question Id : 7230531830 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

Which of these is NOT a part of social science?
Options:

# Law

% Political science

» Biology

» Philosophy

Question Number : 289 Question Id : 7230531831 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

Which of these is NOT an objective of teaching mathematics?
Options:
» Teaching and learning of numeracy skills
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| .. Teaching of abstract mathernatical concepts

» Teaching of advanced mathematics

» Making students understand the importance of micro teaching

Question Number : 290 Question Id : 7230531832 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of these options need NOT be given much importance while choosing cartoons to teach a concept?

Options:
» Selection of cartoons keeping the goal of the specific subject in mind

% Use of appropriate and relevant cartoons to drive in the concept
» Taking care that the cartoons don’t disturb the sentiments of any group

« The colours used in the cartoon characters

Question Number : 291 Question Id : 7230531833 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The content for arts education activities at primary stage should be oriented towards all the below options, EXCEPT:

Options:
% Towards Self

% Towards Family

% Towards Classroom

» Towards cultural diversity

Question Number : 292 Question Id : 7230531834 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of these is NOT a 3D art method or technique to use while teaching a subject?

Options:
% Relief work

% Clay modelling
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« Hand pottery

» Photographs

GET IT ON
Google Play

Question Number : 293 Question Id : 7230531835 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

Which of these is NOT a feature of a blog?
Options:
% The content is published in a reverse chronological fashion

» Content is updated on a regular basis

% Readers have the possibility to leave comments

» They are composed of web pages in which one can makes changes thus enabling fast and easy collaboration.

Question Number : 294 Question Id : 7230531836 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

What advantage does micro teaching give student teachers?
Options:
» Prepares for transfer of new technique to a real classroom

« Allows specific methods to be evolved for teaching

% Collect data for research studies

» Helps teacher educators evaluate student teachers

Question Number : 295 Question Id : 7230531837 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.25

When a person knows the theory behind how to drive a car without ever having driven a car in reality. then the person is

said o possess:
Options:
» Procedural knowledge

» Propositional knowledge
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| .. Personal Knowledge |

» Inherent knowledge

Question Number : 296 Question Id : 7230531838 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Which of these is NOT an assessment method?
Options:

» Question and answer

% Skill test
% Homework exercises

» Teacher suggests correction

Question Number : 297 Question 1d : 7230531839 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

‘Which of these is a summative assessment?
Options:

+ Final examination used for certification

» Self-assessments (identifying skills and competencies)
% Discussion board responses (on content-specific prompts)

» Interviews (brief, private, 10-minute interview of each student)

Question Number : 298 Question Id : 7230531840 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

What has been the shift in teacher evaluation techniques?
Options:

+ Standards evaluation to Value addition

% Mentor evaluation to peer evaluation

» From assessing practice teaching to micro teaching
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-evalhation

Question Number : 299 Question Id : 7230531841 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

Which of the following is a disorder that affects the development of motor skills. in which the affected have trouble
planning and executing fine motor tasks. which can range from waving goodbye to getting dressed?

Options:
% Dyslexia

% Dysgraphia

% Dryscalculic

» Dyspraxia

Question Number : 300 Question Id : 7230531842 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.25

Identify the most vital reason why students with special needs to be made a part of regular schools?
Options:

5 To take advantage of benefits in the form of educational resources and activities that are available
% To take opportunities in the field which will help them have a better future

» To create dependency on specialised services only which will give a way to prove their worth.

» To keep them away from their need based activities.
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